
MATH 774 - QUIZ 7 _ 7 MARCH 2013

Answer all of the following questions in the space provided. Show all work as partial
credit may be given. Answers without justification, 

",rln 
if they are correct, will earn no

credit.

1. (10 pts.) compute the integral t - ,=# , 
^dr 

using partiar fractions.
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MATH 174 _ QUrzT _ 7 MARCH 2013
Answer all of the following questionl in.lhe space provided. show all work as partial

;;:j;l 
mav be given. AnswerJ;iril;; justificatioo, u.,lr,"ir they are correct, w1l earn no

1. (10 pts.) Compute the integral [ : * 4
L x1i+ Zy 

dz using partial fractions.
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MATH LL4 - qUIZ 7 - 7 MARCH 2013

Answer all of the following questions in the space provided. Show all work as partial
credit may be given. Answers without justification, even if they are correct, will earn no
credit.

1. (10 pts.) Compute the integral | ##Tdr using partial fractions.
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